VYAILYYISINIKAY Vd401D3I¥IAENS
ZNIW OIEN¥ ZIATYZNOD VIIIYEVD VIDIHING

T °p

T eutbeq

TY4INID ¥0lD3¥Id
VYOHO0 VATIS OTd¥d NYnr

“I0sTwa 8P pepIITgesucdsal uos A S03D3II0D SIUSWSTJBUO

‘sejou sns A sor21oueRuUTi sopelsy soT anb soweie{osp pepisa ITD;

)

)

N

I uos

sp eiasajoad ofleg

<€0:PT:-20 120C 120 11>

PSTETT'BPP ‘PT 6£°608°70S LS €8°0¥Z2’080'6S LE PSE'FTSEL pL 8LE'TOV ‘€T €9°6L6°221°09 0LSVYD Tdd TVIOL
00°0 00°0 00°0 00 00°0 00°0 SINOIDVAIDILEYE S
00°0 00°0 00°0 00 00°0 00°0 SINOIOYIIENC A SINOISNE 12
SOAISYd 3d
00°0 00°0 00°0 00 00°0 00°0 NOIDANIWSIA A ¥YANZEA ¥T1 3d NQIOVZILYOWNY €
00°0 ST v0£'G69°2 ST°p0E’S69°2 ST v0E‘S69°2 R JeT a4 3 4 00°000 ‘€52 TYIIdYD IA OLSYD z
PSTETT vV ‘¥1 ¥2°505608 %S 89°9€6'F8E'9S 2z 050’628 ‘0L 6S°¥L0'6S6 ‘0T €9°G6.6'698'6S FINITEH0D OISYD 1
(p—£€=9) (s) (%) (2+1=¢) (2) (1)
opebeg opebusasg OpPeDTITPOR S2U0TOONPaY opeqoidy
otoToIslaqng osa1b3g ossibg osaibg /sauoToeTTduy osa1b3 o3dsouo)
(sosad us sea3TD))

120z °op axquatides 8p (Qf Te oIaud =p [ Ted
(0OLSYD dd OdIL ¥0d)
SOSHYOT Hd OLSINANSHEd TAA OIDIDJALH THd OJILITUYNY OQVLSH
YINTOHD 0dddd NVS Hd OIdIDINNW TAd OAVTITIYVINYDIV X
dTdYL0d YNOV HAd SOIDIAYES SOT dd d0dV¥dddO VWALSIS

VOTWQNOOE NQIOVIIAISYID



